



**Vendor Ranking** 

Page 1 of 1

**Letting:** 03251009 October 09, 2025 11:00 AM **Call Order**: 004 **Contract**: E3Y98-R0

District: District 3 Counties: DIST/ST-WIDE, WALTON Fed Aid No: N/A

**Contract Time**: 12/31/26 COMPLETION DATE **Project(s)**: 42214337235 (\*)

Contract Desc: PONCE DE LEON - MOWING AND LITTER REMOVAL ROUTINE MAINT

Rank	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	FLORIDA RIGHT OF WAY CORPORATION	Responsive	Winning bid	\$567,840.69	100.00%
2	ROTOLO CONSULTANTS, INC.	Responsive	Non-Winning Bid	\$621,549.02	109.46%
3	CGI LAND SERVICES LLC	Responsive	Non-Winning Bid	\$675,545.03	118.97%
4	AMG OPERATIONS, LLC.	Responsive	Non-Winning Bid	\$985,226.86	173.50%
	UNITED FREIGHT SERVICES LLC	Irregular	Irregular bid		

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.





#### **Tabulation of Bids**

Page 1 of 3

**Letting:** 03251009 October 09, 2025 **Call Order:** 004 **Contract:** E3Y98-R0

District: District 3 Counties: DIST/ST-WIDE, WALTON Fed Aid No: N/A

**Contract Time:** 12/31/26 COMPLETION DATE **Project(s):** 42214337235 (\*)

Contract Descr: PONCE DE LEON - MOWING AND LITTER REMOVAL ROUTINE MAINT

The work specified under this Work Document-Driven Contract consists of the routine mowing of grassed and vegetated roadside areas with routine pickup, removal and disposal of litter and otherwise undesirable or objectionable appearing debris along various state roads south of State Road 8 (Interstate 10) in Walton County, as shown in the Appendices. Maintenance of Traffic and Mobilization are incidental to the bid items listed.

Line No / Item ID Alternate Item Description	Quantity Units	(1) FLORIDA RI		(2) ROTOLO CO		(3) CGI LAND	SERVICES LLC
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (L	ARGE MACH	IINE MOWING (AC					
0005 E107 1 1 LITTER REMOVAL	33,380.690 AC	10.49000	350,163.44	7.79310	260,139.06	12.00000	400,568.28
0010 E107 2 1 MOWING (LARGE MACHINE)	7,647.030 AC	22.00000	168,234.66	35.18469	269,058.38	25.00000	191,175.75
0015 E107 2 2 MOWING (SLOPE)	783.070 AC	59.00000	46,201.13	115.11549	90,143.49	100.00000	78,307.00
0020 E107 2 3 MOWING (INTERMEDIATE MACHINE)	54.940 AC	59,00000	3,241.46	40.19089	2,208.09	100.00000	5,494.00
0001 LARGE MACHINE Sec MOWING (AC)	tion Totals:		\$567,840.69		\$621,549.02		\$675,545.03

Contract Grand Totals:	\$567,840.69	\$621,549.02	675,545.03
------------------------	--------------	--------------	------------





# **Tabulation of Bids**

Page 2 of 3

Letting	: 03251009	October 09, 20	25 <b>Cal</b>	l Order: 004		Contract:	E3Y98-R0	
	No / Item ID Alternate Description	Quantity Units	(4) AMG OPERA	ATIONS, LLC.				
() indi	cates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION: 0001 (LARGE MACHINE MOWING (AC							
	E107 1 1 REMOVAL	33,380.690 AC	12.00000	400,568.28				
	E107 2 1 G (LARGE MACHINE)	7,647.030 AC	55.00000	420,586.65				
	E107 2 2 G(SLOPE)	783.070 AC	199.00000	155,830.93				
	E107 2 3 G (INTERMEDIATE MACHIN	54.940 E) AC	150.00000	8,241.00				
	0001 LARGE MACHINE S MOWING (AC)	ection Totals:		\$985,226.86				

Contract Grand Totals: \$985,226.86



10/28/2025

### **Tabulation of Bids**

Page 3 of 3

**Letting:** 03251009

October 09, 2025

Call Order: 004

Contract:

E3Y98-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.